

Course Structure B.Des Foundation

Semester – I

					Sch	ching eme Wee		Exa				
Sr. No.	Core	Course Code	Course Name	L	Т	P	C	Formative Assessment CIA		Summative Assessment ESE		Total Marks
								Course	Course Lab		Lab	
1	UC	XFE 101	Contemporary English	3	0	0	3	50	-	100	-	100
2	PC	YSD101	Art Appreciation	2	0	0	2	50	-	100	-	100
3	PC	YSD102	Color and Form Studies	2	0	0	2	50	-	100	-	100
4	PC	YSD111	Color and Form Studies Studio	0	0	6	3	-	50	-	50	100
5	PC	YSD112	Drawing I Media Exploration	0	0	4	2	-	50	-	50	100
			Studio									
6	PC	YSD113	Material Studies - I Studio	0	0	6	3	-	50	-	50	100
7	PC	YSD114	Introduction to Photography Studio	0	0	4	2	-	50	-	50	100
8	PC	YSD115	Typography - I Studio	0	0	4	2	-	50	-	50	100
	TOTAL				0	24	19	150	250	300	250	800

		CIA	Weightage	Description
CIA: Continuous Internal		CIA 1	10%	Home Assignment
Assessment	UC: University Core	CIA 2	20%	Mid Term Exam (MTE)
L: Theory Lecture	PC: Programme Core			Activity/Project and Research
T: Tutorial	2 CV 110grummic Core	CIA 3	10%	Based learning along with
1: Tutoriai	PE : Programme			seminar presentation
P: Practical	Elective			Behavior Attitude+ General
707 7 10	OF: One of Floridae	CIA 4	10%	Discipline Theory +Practical
ESE: End Semester Exam	OE: Open Elective	CH14	1070	Attendance
		TOTAL	50%	
Writte	en Examination-End Semester	Exam (ESE)	50%	
		Total	100%	



Course Structure

Semester – II

B. Des Foundation
For the Batch: Ay 23-24 onwards

			Course Name	i	Ceacl Sche rs./V		x)	Exai	Total			
Sr. No.	Core	Course Code		L	Т	P	C	Formative Assessment CIA		Assessi	Summative Assessment ESE	
								Course	Lab	Course	Lab	
1	UC	XEV 201	Environmental Studies	3	0	0	3	50	-	100	-	100
2	PC	YSD 201	Color, Context and Composition	2	0	0	2	50	-	100	-	100
3	PC	YSD 202	History of Design	3	0	0	3	50	-	100	-	100
4	PC	YSD 203	Narrative Structure	2	0	0	2	50	-	100	-	100
5	PC	YSD211	Color, Context and Composition Studio	0	0	6	3	-	50	-	50	100
6	PC	YSD212	Narrative Structure Studio	0	0	2	1	-	50	-	50	100
7	PC	YSD 213	Drawing II: Representation Techniques Studio	0	0	6	3	-	50	-	50	100
8	PC	YSD 214	Material Studies - II Studio	0	0	4	2	-	50	-	50	100
9	PC	YSD 215	Software Skills Studio	0	0	6	3	-	50	-	50	100
	TOTAL				0	24	22	200	250	400	250	900

		Formative Assessment							
CIA: Continuous Internal	#: Internship for 15 days.	CIA	Weightage	Description					
Assessment	*: Oral Examination	CIA 1	10%	Home Assignment					
		CIA 2	20%	Written Exam					
L: Theory Lecture	UC: University Core	CIA 3	10%	Seminar Presentation					
T: Tutorial	PC: Programme Core	CIA 4	10%	Activity/Project &Research					
P: Practical	PE : Programme Elective			Based Activity					
ESE: End Semester Exam	OE: Open Elective								
	VAC: Value Added	TOTAL	50%						
	Courses								



Course Structure B. Des Space & Interior Design

Semester – III

				i	Teacl Sche Trs./V	me		Exa				
Sr. No.	Core	Course Code	Course Name	L	T	P	C	Formative Assessment CIA		Summative Assessment ESE		Total Marks
								Course	Lab	Course	Course Lab	
1	UC	NHSA11	Key Competencies for Career Growth	1		4	2	-	50		50	100
2	PC	L YS1301	Introduction to Interior Design	2			2	50		100		100
3	PC	YSI302	Design Method and Process	3			3	50		100		100
4	PC	YSI303	Research Methodology and Craft Study	3			3	50		100		100
4	PC	YSI311	Form Space and Order Studio			4	2		50		50	100
5	PC	YSI312	Design Method and Process Studio			2	1		50		50	100
6	PC		Research Methodology and Craft Study Studio	1		4	2		50		50	100
7	PC	YSI314	Architectural Drafting I Studio	1		6	3		50		50	100
8	PC		Drawing III Analytical Drawing Studio	-1		6	3		50		50	100
	TOTAL					26	21	150	300	300	300	800

CIA: Continuous Internal	UC: University Core	CIA	Weightage	Description
Assessment		CIA 1	10%	Home Assignment
L: Theory Lecture	PC : Programme Core	CIA 2	20%	Mid Term Exam (MTE)
T: Tutorial P: Practical	PE : Programme Elective	CIA 3	10%	Activity/Project and Research Based learning along with seminar presentation
ESE: End Semester Exam	OE: Open Elective	CIA 4	10%	Behavior Attitude+ General Discipline Theory +Practical Attendance
		TOTAL	50%	
Written E	xamination-End Semester Exam (ESE)		50%	
		Total	100%	



Course Structure B. Des Space & Interior Design

Semester – IV

	Core	Course Code	Course Name		each Sche Irs./	me		Exan				
Sr. No.				L	T	P	P C	Formative Assessment CIA		Summ Assess ES	ment	Total Marks
								Course	Lab	Course	Lab	
1	PC	YSI 401	Cultural Anthropology	2	0	0	2	50	-	100	-	100
2	PC	YSI 402	Interior Structures	2	0	0	2	50	-	100	-	100
3	PC	YSI 403	Color Concept	3	0	0	3	50	-	100	-	100
4	PC	YSI 404	Human Factors	2	0	0	2	50	-	100	-	100
5	PC	YSI 405	Processing Techniques	4	0	0	4	50	-	100	-	100
6	PC	YSI 406	Introduction to Textile Fibers and Yarns	2	0	0	2	50	-	100	-	100
7	PC	YSI 411	Cultural Anthropology Studio	0	0	4	2	-	50	-	100	100
8	PC	YSI 412	Interior Structures Studio	0	0	4	2	-	50	-	100	100
9	PC	YSI 413	Processing Techniques Studio	0	0	4	2	-	50	-	100	100
10	PC	YSI 414	Color Concept Studio	0	0	6	3	_	50	-	100	100
11	PC	YSI 415	Introduction to Textile Fibers and Yarns Studio	0	0	2	1	-	50	-	100	100
			TOTAL	15	0	20	25	300	250	600	500	1100

		Formative Assessment						
CIA: Continuous Internal Assessment	#: Internship for 15 days.	CIA	Weightage	Description				
L: Theory Lecture	*: Oral Examination	CIA 1	10%	Home Assignment				
T: Tutorial	UC: University Core	CIA 2	20%	Written Exam				
1. Tutoriai	oc. Oniversity core	CIA 3	10%	Seminar Presentation				
P: Practical	PC: Programme Core	CIA 4	10%	Activity/Project &Research				
ESE: End Semester Exam	PE: Programme Elective	CIA4	1070	Based Activity				
# 1/2 Courses from above course structure will be offered through	OE: Open Elective							
Swayam Platform.	VAC: Value Added Courses	TOTAL	50%					
* Depending on the availability of								
course								



Course Structure B. Des Space & Interior Design

Semester - V

YSI515

Teaching **Scheme Examination Scheme** (Hrs./Week) Total Marks Sr. Course Core **Course Name Formative Summative** No. Code \mathbf{L} T P \mathbf{C} Assessment Assessment **CIA ESE** Course Lab Course Lab **YSI501** 50 100 1 PC Building Codes and Standards 2 2 100 2 2 2 PC **YSI502** Furniture Design and Detailing 100 100 50 Building Codes and Standards **YSI511** 4 2 3 PC 50 100 100 --Studio Furniture Design and Detailing 4 PC **YSI512** 8 4 50 100 100 Studio Architectural Drafting II and **YSI513** 3 5 PC 6 50 100 50 CAD I Studio 8 4 6 PC **YSI514** Material and Application Studio 50 50 100 --------7 PC 3

6

32

20

200

50

150

400

50

150

100

700

CIA: Continuous Internal	UC: University Core	CIA	Weightage	Description
Assessment	•	CIA 1	10%	Home Assignment
L: Theory Lecture	PC : Programme Core	CIA 2	20%	Mid Term Exam (MTE)
T: Tutorial	PE: Programme			Activity/Project and Research
P: Practical	Elective	CIA 3	10%	Based learning along with seminar presentation
ESE: End Semester Exam	OE: Open Elective			Behavior Attitude+ General
202. End semester Endin		CIA 4	10%	Discipline Theory +Practical Attendance
		TOTAL	500 /	Attendance
		TOTAL	50%	
Written	Examination-End Semester Exam (ESE)		50%	
		Total	100%	

4

Programme Elective I

TOTAL



Course Structure

Semester – V

B.Des Fashion and Lifestyle Design For the Batch: Ay 25-26 onwards

List of Programme Electives I and II

Programme Electives I

Sr. No	Course Code	Course Name
1	YFL513-01	Develop Concept for Apparel
2	YFL513-02	Develop Concept for Textiles
3	YFL513-03	Develop Concept for Accessories

Programme Electives II

Sr. No	Course Code	Course Name
1	YFL514-01	Draping and Pattern Making Studio
2	YFL514-02	Fabric Structure Studio
3	YFL514-03	Accessories Studio



Course Structure B. Des Space & Interior Design

Semester – VI

				Teaching Scheme (Hrs./Week)			Exam	ie				
Sr. No.	Core	Course Code	Course Name	L	Т	P	C	Forma Assessa CIA	nent	Summ Assessi ES	ment E	Total Marks
								Course	Lab	Course	Lab	
1	PC	YSI 601	Business Practices	2	0	0	2	50	-	100	-	100
2	PC	YSI 602	Critical Thinking	2	0	0	2	50	-	100	-	100
3	PC	YSI 603	Lighting Design	2	0	0	2	50	-	100	-	100
4	PC	YSI 603	Sustainable Environments	2	0	0	2	50	-	100	-	100
5	PC	YSI 603	Trends and Forecasting for SID	4	0	0	4	50	-	100	-	100
6	PC	YSI 611	Critical Thinking Studio	0	0	4	2	-	50	-	100	100
7	PC	YSI 612	Lighting Design Studio	0	0	6	3	-	50	-	100	100
8	PC	YSI 613	Trends and Forecasting for SID Studio	0	0	2	1	-	50	-	100	100
9	OE	ODE601	Open Elective I	3	0	0	3	50	-	100	ı	100
10	PE	YSI614	Program Elective –II	0	0	6	3	-	50	-	100	100
	TOTAL			15	0	18	24	250	250	600	400	1000

		Formative Assessment				
CIA: Continuous Internal Assessment	#: Internship for 15 days.	CIA	Weightage	Description		
L: Theory Lecture	*: Oral Examination	CIA 1	10%	Home Assignment		
T: Tutorial	UC: University Core	CIA 2	20%	Written Exam		
1. Tutoriai	oc. Oniversity Core	CIA 3	10%	Seminar Presentation		
P: Practical	PC: Programme Core	CIA 4	10%	Activity/Project &Research		
ESE: End Semester Exam	PE : Programme Elective	CIA 4	10%	Based Activity		
# 1/2 Courses from above course structure will be offered through	OE: Open Elective					
Swayam Platform.	VAC: Value Added Courses	TOTAL	50%			
* Depending on the availability of						
course						



List of Programme Elective – II:

Sr.No	Course Code	Course Name
1	YSI614-01	Hospitality Space Design
2	YSI614-02	Institutional Space Design
3	YSI614-03	Exhibition Space Design (Museum, Gallery, etc.)



Course Structure B. Des Space & Interior Design

Semester - VII

			Teaching Scheme (Hrs./Week)				Examination Scheme					
Sr. No.	Core	Course Code	Course Name	L	Т	P	C	Form Assess CI	ment	Summ Assess ES	ment	Total Marks
								Course	Lab	Course	Lab	
1	PC	YSI 701	Portfolio and Presentation Techniques	2	0	0	2	50	-	100	1	100
2	PC	YSI 702	CAD-II Walkthrough 3D Max	2	0	0	2	50	-	100	1	100
3	PC	YSI 711	Portfolio and Presentation Techniques Studio	0	0	4	2	-	50	-	100	100
4	PC	YSI 712	CAD-II Walkthrough 3D Max Studio	0	0	4	2	-	50	-	100	100
5	PE	YSI713	Program Elective-III	0	0	6	3	-	50	-	100	100
6	PE	YSI714	Program Elective-IV	0	0	6	3	-	50	-	100	100
7	PE	YSI715	Program Elective-V	0	0	6	3	-	50	-	100	100
8	OE	ODE701	Open Elective-II	3	0	0	3	50	-	100	-	100
	TOTAL			7	0	26	20	150	250	300	500	800

	Formative Assessment			
CIA: Continuous Internal Assessment	#: Internship for 15 days.	CIA	Weightage	Description
L: Theory Lecture	*: Oral Examination	CIA 1	10%	Home Assignment
T: Tutorial	UC: University Core	CIA 2	20%	Written Exam
1. Tutoriai	oc. Oniversity Core	CIA 3	10%	Seminar Presentation
P: Practical	PC : Programme Core	CIA 4	10%	Activity/Project &Research
ESE: End Semester Exam	PE : Programme Elective		10%	Based Activity
# 1/2 Courses from above course structure will be offered through	OE: Open Elective			
Swayam Platform.	VAC: Value Added Courses	TOTAL	50%	
* Depending on the availability of				
course				



Course Structure B. Des Space & Interior Design

List of Programme Elective – III:

Sr.No	Course Code	Course Name
1	Miscellaneous Spaces (Cruise, Yatch,etc.)	
2	YSI713-02	Furniture Design

List of Programme Elective – IV:

Sr.No	Course Code	Course Name			
1	1 YSI714-01 Sustainable Interiors				
2	YSI714-02	Vernacular Architecture & its Application In Interiors			

List of Programme Elective -V:

Sr.No Course Code			Course Name				
1 YSI715-01			Innovative Solution with reference to Human Behavior				
	2	YSI715-02	Innovation Workshop ID Lab				



Course Structure B.Des Space & Interior Design

Semester – VIII

				(Teaching Scheme (Hrs./Week)			Examination Scheme				
Sr. No.	Core	Course Code	Course Name	L	Т	P	C	Formative Assessment CIA		Summative Assessment ESE		Total Marks
								Course	Lab	Course	Lab	
1	UC	YSI 811	Internship	0	0	48	24	-	200	-	200	400
	TOTAL		0	0	48	24	-	200	-	200	400	

			Forma	tive Assessment
CIA: Continuous Internal Assessment	#: Internship for 150 days.	CIA	Weightage	Description
L: Theory Lecture	*: Oral Examination	CIA 1	10%	Home Assignment
T: Tutorial	UC: University Core	CIA 2	20%	Written Exam
1. Tutoriai	ec. Oniversity Core	CIA 3	10%	Seminar Presentation
P: Practical	PC: Programme Core	CIA 4	10%	Activity/Project &Research
ESE: End Semester Exam	PE: Programme Elective		1070	Based Activity
# 1/2 Courses from above course structure will be offered through	OE: Open Elective			
Swayam Platform.	VAC: Value Added Courses	TOTAL	50%	
* Depending on the availability of				
course				